2

MSFEFRENZINE—ER (R

T
XA
¥i.8 =
EIRER :SHSE4B1BEMSHRISE6AS0HET
JE £z &4 S ZixeEE JE £z &4 ZEHHK 24 JE L &4 ZEHHK ZESE
1 FVIURIVBIE () 3 15,656
2 B#EarHILask (%) 2 9,570
3 #R—V—T99 2 7,701
4 (BR) kOO TERE 1 6,617
5 BIAIE (BR) 1 5614
6 (%) HEIRAI= R 2 4,356
7 B8l (%) 1 4,156
8 (€2 IR0y \UF: k= 1 3,600
9 #BAE AT () 1 3,081

ZEEHEOEMHITTH




X :HH
R ERERERAVTIVEFEDS

o
T

MSFEFRENZINE—ER (R

EIRER :SHSE4B1BEMSHRISE6AS0HET

&4 e ZiEHH s et ] &4z e 2EHH ZEeHE &4z e ZiEMH Cgr k]
1 (B)BIREEREHHR 2 24,915
2 |(RA)BIMREERE 4 23,584
3 |TRR=YIa () 1 23,540
4 | (B HHRERS BB 2 19,470
5 | (BR)EIEERETEB 3 19,437
6 | (B IRBRIBEE 4 18,865
7| REEER R E BT 3 12,287
8 (kR) #2- 385 2 11,209
9 |(B)PERERGEHA 1 10,307
10 ((BE)T7ALEKE 2 9,977
" |\ET7I4TLT— 1 9,656
12 |(&) FELREERRAM 1 8,800
13 | (A —T+—EEREM 1 8,195
14 | (B ABH—EREEEHR 2 6,050
15 | (¥R) T—ILREBEMEAR 1 5,771
16 |(BR) BREREHN 1 5,599
17 | TUTSREERAEHH 1 4,994
18 |(B) B ket 1 4411
19 | (BR) BEMURR & R E SR EH 5 AT 1 3,190
20 [(B)TIO7HEEHERE 1 2,389

ZEEHEOEMHITTH




XN
IR T ABRERIVT LIV ER

o
T

MSFEFRENZINE—ER (R

EIRER :SHSE4B1BEMSHRISE6AS0HET

g3z FE4 ZIEMHH b g5z FE4 ZIEMHH ZXEEE g3z FE4 ZIEMHH b
1 B E (%) 2 37,470
2 |REVELILDZTYLY () 3 26,193
3 | EBERaVYILEUE 1 16,996
4 |(BR)3—Y 4 16,226
5 |#BEILO=TILY 2 12,760
6 (¥R) BV YL 3 11,640
7 |FHIUO=TILT G 1 11,403
8 | () REMMERE 2 7,874
9 |(#)CMS 1 7,175
10 |WRavHILEU - () 1 6,791
1| (BR) by bR 2 6,158
12 |[FEIVo=TILT (%) 1 5918
13 |(B)BIEES 1 3,500

ZEEHEOEMHITTH




FHMSEFEFRENZINE—ER (R

XA
R HEhe
EIRER :SHSE4B1BEMSHRISE6AS0HET
[:§ ®EA AN ZEEHE [: ®EA AN IS [:i ®EA AN
1 (5 S mly AN/ C S| 2 5474
2 RESELIDOSZTIUY (3R) 1 5,165
3 (%) HArERE 1 1,850

ZEEHEOEMHITTH



